Topological Methods in Nonlinear Analysis Journal of the Juliusz Schauder Center Volume 34, 2009, 181–186

UNIFORM NONSQUARENESS OF DIRECT SUMS OF BANACH SPACES

Anna Betiuk-Pilarska — Stanisław Prus

ABSTRACT. An inequality between James constants of Banach spaces X_s and the James constant of their direct sum is obtained. This gives a characterization of uniform nonsquareness of sums of Banach spaces.

1. Introduction

The class of uniformly nonsquare Banach spaces was introduced by James in [7]. He proved that those spaces are super-reflexive, i.e. they admit equivalent uniformly convex norms. In [4] Gao and Lau introduced a coefficient related to uniform nonsquareness, which is called the James constant of a Banach space. Uniform nonsquareness turned out to be useful in metric fixed point theory. The James constant and its modifications give sufficient conditions for normal structure (see [5], [2] and [8]) and even estimates for the normal structure coefficient (see [12]). In [6] it was proved that all uniformly nonsquare Banach spaces have the fixed point property for nonexpansive mappings on bounded closed convex sets. In this paper we deal with the problem of uniform nonsquareness of direct sums of Banach spaces. The basic result in this area was obtained by Kato, Saito and Tamura [9]. They found an equivalent condition for uniform nonsquareness of a direct sum of two Banach spaces. In their paper they asked if it is possible to generalize their result to direct sums of more than two spaces. A sufficient

²⁰⁰⁰ Mathematics Subject Classification. 46B20, 46B99.

Key words and phrases. Uniform nonsquarness, James constant, unconditional basis.

 $[\]textcircled{C}2009$ Juliusz Schauder Center for Nonlinear Studies

condition for uniform nonsquareness of direct sums of finite families of Banach spaces can be found in [3]. In this paper we give an answer to the problem posed in [9]. Following [1, p. 5] we consider a general product $X = (\sum_{s \in S} X_s)_Z$ of a family $\{X_s\}_{s \in S}$ of Banach spaces. We will show an inequality between the James constant J(X) of X and James constants of the spaces X_s and Z. As a corollary we see that $X = (\sum_{s \in S} X_s)_Z$ is uniformly nonsquare if and only if the space Z is uniformly nonsquare and $\sup_{s \in S} J(X_s) < 2$. Our results can be applied in particular to the case when $Z = (Z, \|\cdot\|_Z)$ is a real Banach space with a 1-unconditional basis and (X_n) is a sequence of Banach spaces.

2. Preliminaries

DEFINITION 2.1. A Banach space X is called uniformly nonsquare if there exists $\delta \in (0,1)$ such that for any $x, y \in X$ with ||x|| = ||y|| = 1 we have $||x+y||/2 \le 1-\delta$ or $||x-y||/2 \le 1-\delta$.

In [9] Kato, Saito and Tamura showed a theorem which can be formulated in the following way.

THEOREM 2.2. Let X and Y be Banach spaces and $\|\cdot\|_Z$ be a norm on \mathbb{R}^2 such that $\|(1,0)\|_Z = \|(0,1)\|_Z = 1$ and $\|\cdot\|_Z$ is monotone i.e. if $|x| \le |y|$, then $\|x\| \le \|y\|$. Then the following conditions are equivalent.

- (a) $(X \oplus Y)_Z$ is uniformly nonsquare.
- (b) X and Y are uniformly nonsquare and $\|\cdot\|_Z$ is different from l_1 and l_∞ norm.

In their paper they asked about characterization of uniform nonsquareness of direct sums of more than two spaces. In [3] Dhompongsa, Kaewcharoen, Kaewkhao showed that if X_1, \ldots, X_n are uniformly nonsquare Banach spaces and $\|\cdot\|_Z$ is a monotone uniformly convex norm on \mathbb{R}^n then $(X_1 \oplus \cdots \oplus X_n)_Z$ is uniformly nonsquare.

The James constant, or the nonsquare constant of a Banach space X was defined by Gao and Lau in [4] as

$$J(X) = \sup\{\min\{\|x+y\|, \|x-y\|\} : x, y \in X, \|x\| = \|y\| = 1\}.$$

In this definition condition that ||x|| = ||y|| = 1 can be replaced by: x, y belong to the unit ball of X. Clearly, X is uniformly nonsquare if and only if J(X) < 2. In [5], Gao and Lau proved that, in general, $\sqrt{2} \le J(X) \le 2$ and X has uniform normal structure provided that J(X) < 3/2. Next, in [2] it was shown that 3/2can be replaced by $(1 + \sqrt{5})/2$ in this theorem. The following refinement of the triangle inequality will be the main tool for the proof of our theorem. LEMMA 2.3 ([11]). For any nonzero elements x, y in a Banach spaces X we have

$$\begin{aligned} \|x+y\| + \left(2 - \left\|\frac{x}{\|x\|} + \frac{y}{\|y\|}\right\|\right) \min\{\|x\|, \|y\|\} \\ &\leq \|x\| + \|y\| \leq \|x+y\| + \left(2 - \left\|\frac{x}{\|x\|} + \frac{y}{\|y\|}\right\|\right) \max\{\|x\|, \|y\|\}. \end{aligned}$$

3. Results

Let $S \neq \emptyset$ be an arbitrary set. Consider the space Map (S, \mathbb{R}) of all functions from S to \mathbb{R} with the standard operations and order. Let $(Z, \|\cdot\|_Z)$ be a real Banach space such that Z is a linear subspace of Map (S, \mathbb{R}) and if $x \in Z$, $y \in \text{Map}(S, \mathbb{R})$ and $|y| \leq |x|$ then $y \in Z$ and $\|y\|_Z \leq \|x\|_Z$. Given a family $\{X_s\}_{s\in S}$ of Banach spaces, we can therefore define the direct sum (see [1, p. 5]) $X = (\sum_{s\in S} X_s)_Z$ as the space of all functions $x = \{x(s)\}_{s\in S}$ where $x(s) \in X_s$ for every $s \in S$ such that $\{\|x(s)\|\}_{s\in S} \in Z$. We endow X with the norm given by the formula

$$||x|| = ||\{||x(s)||\}_{s \in S}||_Z.$$

THEOREM 3.1. Let $X = (\sum_{s \in S} X_s)_Z$ be as above. Then

$$J(X) \le 2 - \frac{1}{2} \left(2 - \sup_{s \in S} J(X_s) \right) (2 - J(Z)).$$

PROOF. Observe that

$$\lambda = \frac{1}{2} \left(2 - \sup_{s \in S} J(X_s) \right)$$

belongs to the interval [0, 1]. For every $\varepsilon > 0$ there exist $u = \{u(s)\}_{s \in S}$, $v = \{v(s)\}_{s \in S}$ in the unit sphere of X such that

$$J(X)(1-\varepsilon) \le \min\{\|u-v\|, \|u+v\|\}.$$

Let S_1 be the set of all $s \in S$ such that u(s) = 0 or v(s) = 0 or u(s), v(s) are not zero and

$$\left\|\frac{u(s)}{\|u(s)\|} + \frac{v(s)}{\|v(s)\|}\right\| = \min_{k=\pm 1} \left\|\frac{u(s)}{\|u(s)\|} + k\frac{v(s)}{\|v(s)\|}\right\|.$$

If $s \in S_1$ and $u(s) \neq 0$, $v(s) \neq 0$, then from Lemma 2.3 we obtain

$$\begin{split} \|u(s) + v(s)\| &\leq \|u(s)\| + \|v(s)\| \\ &- \left(2 - \left\|\frac{u(s)}{\|u(s)\|} + \frac{v(s)}{\|v(s)\|}\right\|\right) \min\{\|u(s)\|, \|v(s)\|\} \\ &= \max\{\|u(s)\|, \|v(s)\|\} \\ &+ \left(\left\|\frac{u(s)}{\|u(s)\|} + \frac{v(s)}{\|v(s)\|}\right\| - 1\right) \min\{\|u(s)\|, \|v(s)\|\} \end{split}$$

A. Betiuk-Pilarska — S. Prus

$$\leq \max\{\|u(s)\|, \|v(s)\|\} + (J(X_s) - 1)\min\{\|u(s)\|, \|v(s)\|\}$$

$$\leq \max\{\|u(s)\|, \|v(s)\|\} + (1 - 2\lambda)\min\{\|u(s)\|, \|v(s)\|\}$$

$$= (1 - \lambda)(\|u(s)\| + \|v(s)\|) + \lambda|\|u(s)\| - \|v(s)\||.$$

This gives us the inequality

(3.1)
$$\|u(s) + v(s)\| \le (1 - \lambda)(\|u(s)\| + \|v(s)\|) + \lambda \|\|u(s)\| - \|v(s)\||$$

which holds also if u(s) = 0 or v(s) = 0. Consequently, it holds for all $s \in S_1$. Put

$$z_0(s) = ||u(s)|| + ||v(s)||, \quad s \in S$$

and

$$z_1(s) = \begin{cases} |||u(s)|| - ||v(s)||| & \text{for } s \in S_1, \\ ||u(s)|| + ||v(s)|| & \text{for } s \in S_2, \end{cases}$$

where $S_2 = S \setminus S_1$. We have

$$(1 - \lambda)z_0(s) + \lambda z_1(s) = \begin{cases} (1 - \lambda)(\|u(s)\| + \|v(s)\|) + \lambda\|\|u(s)\| - \|v(s)\|| & \text{for } s \in S_1, \\ \|u(s)\| + \|v(s)\| & \text{for } s \in S_2, \end{cases}$$

so, by (3.1), we get

$$J(X)(1-\varepsilon) \leq ||u+v|| \leq ||(1-\lambda)z_0 + \lambda z_1||_Z$$

$$\leq (1-\lambda)(||u|| + ||v||) + \lambda ||z_1||_Z = 2(1-\lambda) + \lambda ||z_1||_Z.$$

This gives us the inequality

(3.2)
$$J(X)(1-\varepsilon) - 2(1-\lambda) \le \lambda ||z_1||_Z.$$

If $s \in S_2$, then $u(s) \neq 0$, $v(s) \neq 0$ and

$$\left\|\frac{u(s)}{\|u(s)\|} - \frac{v(s)}{\|v(s)\|}\right\| = \min_{k=\pm 1} \left\|\frac{u(s)}{\|u(s)\|} + k\frac{v(s)}{\|v(s)\|}\right\|.$$

A reasoning similar to the previous one shows that

(3.3)
$$J(X)(1-\varepsilon) - 2(1-\lambda) \le \lambda ||z_2||_Z$$

where

$$z_2(s) = \begin{cases} \|u(s)\| + \|v(s)\| & \text{for } s \in S_1, \\ \|\|u(s)\| - \|v(s)\|| & \text{for } s \in S_2. \end{cases}$$

Put

$$y_1(s) = ||u(s)||, \quad s \in S, \qquad y_2(s) = \begin{cases} ||v(s)|| & \text{for } s \in S_1, \\ -||v(s)|| & \text{for } s \in S_2. \end{cases}$$

Then
$$||y_1||_Z = ||u|| = 1$$
 and $||y_2||_Z = ||v|| = 1$. Moreover,

$$|y_1 - y_2|(s) = \begin{cases} |||u(s)|| - ||v(s)||| & \text{for } s \in S_1, \\ ||u(s)|| + ||v(s)|| & \text{for } s \in S_2, \end{cases}$$

184

which shows that $||y_1 - y_2||_Z = ||z_1||_Z$ and

$$|y_1 + y_2|(s) = \begin{cases} ||u(s)|| + ||v(s)|| & \text{for } s \in S_1, \\ |||u(s)|| - ||v(s)||| & \text{for } s \in S_2, \end{cases}$$

which implies that $||y_1 + y_2||_Z = ||z_2||_Z$. From (3.2) and (3.3) we therefore see that

$$\lambda J(Z) \ge \lambda \min\{\|y_1 - y_2\|_Z, \|y_1 + y\|_Z\} \ge J(X)(1 - \varepsilon) - 2(1 - \lambda).$$

Passing to the limit with $\varepsilon \to 0$, we obtain $\lambda J(Z) \ge J(X) - 2(1 - \lambda)$ which means that

$$J(X) \le \lambda J(Z) + 2(1 - \lambda) = 2 - \frac{1}{2} \left(2 - \sup_{s \in S} J(X_k) \right) (2 - J(Z)).$$

It is easy to see that all spaces X_s and Z are isometric to subspaces of $(\sum_{s \in S} X_s)_Z$. In view of Theorem 3.1 this gives us the following result.

COROLLARY 3.2. Let $X = (\sum_{s \in S} X_s)_Z$ be as in Theorem 3.1. Then X is uniformly nonsquare if and only if the space Z is uniformly nonsquare and $\sup_{s \in S} J(X_s) < 2$.

We say that a Schauder basis (e_k) of a real space Z is unconditional if whenever the series $\sum_{k=1}^{\infty} a_k e_k$ converges, it converges unconditionally, i.e. $\sum_{k=1}^{\infty} a_{\pi(k)} \cdot e_{\pi(k)}$ converges for any permutation π of \mathbb{N} . In this case

$$\lambda = \sup\left\{ \left\| \sum_{k=1}^{\infty} \varepsilon_k a_k e_k \right\| : \left\| \sum_{k=1}^{\infty} a_k e_k \right\| = 1, \ \varepsilon_k = \pm 1 \right\} < \infty$$

and we say that (e_k) is λ -unconditional. In the same way we can treat finite bases. Let Z be a space with a 1-unconditional basis (e_k) . We can identify a vector $x = \sum_{k=1}^{\infty} a_k e_k$ with the sequence (a_k) . Thus Z can be seen as a subspace of the space Map (\mathbb{N}, \mathbb{R}) . Since the basis (e_k) is 1-unconditional, the norm of Z is monotone (see [10, p. 19]). We can therefore consider the direct sum $X = (\sum_{k=1}^{\infty} X_k)_Z$ of a sequence (X_k) of Banach spaces. In this case an element $x \in X$ is of the form $x = (x_k)$, where $x_k \in X_k$ for every $k \in \mathbb{N}$ and

$$||x|| = \left\| \sum_{k=1}^{\infty} ||x_k|| e_k \right\|.$$

So we obtain the following particular case of Theorem 3.1.

THEOREM 3.3. Let $Z = (Z, \|\cdot\|_Z)$ be a real Banach space with a 1-unconditional basis and (X_k) be a sequence of Banach spaces. Put $X = (\sum_{k=1}^{\infty} X_k)_Z$. Then

$$J(X) \le 2 - \frac{1}{2} \left(2 - \sup_{k \in \mathbb{N}} J(X_k) \right) (2 - J(Z)).$$

Considering the case $Z = \mathbb{R}^n$, we obtain the following result.

COROLLARY 3.4. Let $\|\cdot\|_Z$ be a monotone norm in \mathbb{R}^n and X_1, \ldots, X_n be Banach spaces. Put $Z = (\mathbb{R}^n, \|\cdot\|_Z)$ and $X = (X_1 \oplus \ldots \oplus X_n)_Z$. Then

$$J(X) \le 2 - \frac{1}{2} \left(2 - \max_{1 \le k \le n} J(X_k) \right) (2 - J(Z)).$$

Consequently, X is uniformly nonsquare if and only if all spaces X_1, \ldots, X_n, Z are uniformly nonsquare.

Let $\|\cdot\|$ be a monotone norm in \mathbb{R}^2 such that $\|(1,0)\| = \|(0,1)\| = 1$. Then $(\mathbb{R}^2, \|\cdot\|)$ is uniformly nonsquare if and only if $\|\cdot\|$ is different from l_1 and l_{∞} norm. Theorem 2.2 can be therefore seen as a partial case of Corollary 3.4.

References

- [1] M. DAY, Normed Linear Spaces, Springer-Verlag, Berlin–Göttingen–Heidelberg, 1962.
- S. DHOMPONGSA, A. KAEWKHAO AND S. TASENA, On a generalized James constant, J. Math. Anal. Appl. 285 (2003), 419–435.
- S. DHOMPONGSA, A. KAEWCHAROEN AND A. KAEWKHAO, Fixed point property of direct sums, Nonlinear Anal. 63 (2005), e2177–e2188.
- [4] J. GAO AND K. S. LAU, On the geometry of spheres in normed linear spaces, J. Austral. Math. Soc. Ser. A 48 (1990), 101–112.
- [5] _____, On two classes of Banach spaces with uniform normal structure, Studia Math. 99 (1991), 41–56.
- [6] J. GARCÍA-FALSET, E. LLORENS-FUSTER AND E. M. MAZCUÑAN-NAVARRO, Uniformly nonsquare Banach spaces have the fixed point property for nonexpansive mappings, J. Funct. Anal. 233 (2006), 494–514.
- [7] R. C. JAMES, Uniformly nonsquare Banach spaces, Ann. of Math. 80 (1964), 542–550.
- [8] M. KATO, L. MALIGRANDA AND Y. TAKAHASI, On James and Jordan-von Neumann constants and the normal structure and the normal structure coefficient of Banach spaces, Studia Math. 144 (2001), 275–295.
- [9] M. KATO, K.-S. SAITO AND T. TAMURA, Uniform non-squareness of Ψ -direct sums of Banach spaces $X \oplus_{\Psi} Y$, Math. Inequal. Appl. 7 (2004), 429–437.
- J. LINDENSTRAUSS AND L. TZAFRIRI, Classical Banach Spaces I, Springer-Verlag, Berlin -Heidelberg-New York, 1977.
- [11] L. MALIGRANDA, Simple norm inequalities, Amer. Math. Monthly 113 (2006), 256–260.
- [12] S. PRUS, Some estimates for the normal structure coefficient in Banach spaces, Rend. Circ. Math. Palermo 40 (1991), 128–135.

Manuscript received November 7, 2007

ANNA BETIUK-PILARSKA AND STANISŁAW PRUS Institute of Mathematics M. Curie-Skłodowska University 20-031 Lublin, POLAND

E-mail address: abetiuk@golem.umcs.lublin.pl,bsprus@golem.umcs.lublin.pl

 TMNA : Volume 34 - 2009 - N° 1

186